
SAP ABAP table EKUN_DI {IS-U-Specific Fields for Business Partner}

EKUN_DI

WAKLASS [CHAR (4)]

FIRMART [CHAR (2)]

ARBFELD [CHAR (2)]

ARTZULASS [CHAR (2)]

FREMDEVU [CHAR (3)]

STATINS [CHAR (2)]

DR_LICENSE_LAND1 [CHAR (3)]

DR_LICENSE_REGIO  [CHAR (3)]

KTOKLASSE [CHAR (4)]

BUPINFOREL [CHAR (2)]

CLERK_ID [CHAR (8)]

PYMET [CHAR (1)]

HKONT [CHAR (10)]

KONTOKLASSE

MANDT [CLNT (3)]

KTOKL [CHAR (4)]

 EKUN_DI-KTOKLASSE = KONTOKLASSE-KTOKL 
0..N

0..N

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 EKUN_DI-HKONT = SKA1-SAKNR 
0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 EKUN_DI-DR_LICENSE_LAND1 = T005-LAND1 
0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 EKUN_DI-DR_LICENSE_REGIO = T005S-BLAND 
0..N

0..N

TE061

MANDT [CLNT (3)]

STATINS [CHAR (2)]
 EKUN_DI-STATINS = TE061-STATINS 

0..N

0..N

TE183

MANDT [CLNT (3)]

FIRMART [CHAR (2)]
 EKUN_DI-FIRMART = TE183-FIRMART 0..N

0..N
TE185

MANDT [CLNT (3)]

ARBFELD [CHAR (2)]

 EKUN_DI-ARBFELD = TE185-ARBFELD 
0..N0..N

TE187

MANDT [CLNT (3)]

EVU [CHAR (3)]

 EKUN_DI-FREMDEVU = TE187-EVU 

0..N

0..N

TE189

MANDT [CLNT (3)]

ARTZULASS [CHAR (2)]

 EKUN_DI-ARTZULASS = TE189-ARTZULASS 

0..N

0..N

TE697

MANDT [CLNT (3)]

WAKLASS [CHAR (4)]

 EKUN_DI-WAKLASS = TE697-WAKLASS 

0..N

0..N

TEBUPINFOREL

MANDT [CLNT (3)]

INFOREL [CHAR (2)]

 EKUN_DI-BUPINFOREL = TEBUPINFOREL-INFOREL 

0..N

0..N

TECLERK_ID

MANDT [CLNT (3)]

CLERK_ID [CHAR (8)]

 EKUN_DI-CLERK_ID = TECLERK_ID-CLERK_ID 

0..N

0..N

TFK042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

 EKUN_DI-PYMET = TFK042Z-ZLSCH 

0..N

0..N


